5 s 4 | 3 | 2 | 1
ITEM NO. PART NUMBER DESCRIPTION QrTY.
1 K1010KT2 Crossover clamp, 2-3/8" x 5" 1
2 K1000KT6 Clamp Half. 1-1/2" x 5-7/8" x 1/2" 1
3 K1000KT8-534 Half Clamp, Medium 5-3/4" Center 1
4 K2220KT8i Threaded rod 5/8" x 8", HDG 2
5 K2120KT6i Threaded rod 1/2" x 6", HDG 2
6 H3012KT58GSA3 Flat washer, 5/8", SAE (A325), HDG 4
7 H3012KT12G Flat washer, 1/2", HDG 4
8 H3002KT12G Lock washer, 1/2" HDG 4
9 H3002KT58G Lock washer, 5/8", HDG 4
10 H2002KT58GA3 Nut, hex heavy 5/8" HDG A325 4
11 H2002KT12GA3 Nut, hex heavy 1/2" HDG A325 4
UNLESS OTHERWISE SPECIFIED: NAME DATE
TD(I)l\iIEE;ljI'\‘OCI\IESS?‘\RE\NINCHES DRAWN PQ 10/23/14 KENWOOD TELECOM
I (E I\TWOOD ;R’:‘SJ‘LCA”:AE ;,1’32 CHECKED TITLE:
TFLFCOM WO PLACE DECMAL 303 [ o toPE Crossover Clamp Kit
3471 Mowis Poine Acaosth, GA 101 THREE PLACE DECIMAL: % .010 MFG APPR. " "
[E88) TH-000_[FT0] FEF00 Lix INTERPRET GEOMETRIC QA. 2-3/8 -5
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: COMMENTS:
THE INFORMATION CONTAINED IN THIS MATERIAL S'ZE DWG NO REV

DRAWING IS THE SOLE PROPERTY OF
KENWOOD TELECOM. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
KENWOOD TELECOM IS

PROHIBITED,

NEXT ASSY

USED ON

FINISH

APPLICATION

DO NOT SCALE DRAWING

K1004KT2

B

SCALE: 1:1 WEIGHT: 7.90 | SHEET 1 OF 1
T

5

4

3

2 1




